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2) Corrective Wave (RA0is)
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0. Main Elliot Wave Rules

1. Motive Wave SoIO}s
1.1. Impulse
1.2. Diagonal

2. Corrective Wave 24 I3
2.1. Zigzag (5-3-5)
2.2. Flat (3-3-5)
2.3. Triangle (3-3-3-3-3)
2.4. Complex Combination (WXY / WXYXZ)

3. Alternation mCj
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Motive Wave

# Impulse (4 2= Impulse)

Fib relations of trend waves 1,3,5

Wave 4 often divides the entire impulse into 38.2% / 61.8%.
|Wave 3 size often = 161.8% relative to wave 1

Fib guidelines for retracement waves 2 & 4

Always remember that the 'Alternation” guideline is
more reliable for retracement gauging than fibs alone.

# Impulse (10} &2

Fib relations of trend waves 1,3,5

When Wave 1 is extended, wave 3 through to 5 is often
61.8% - 78. 6% relative to the size of wave 1.

Fib guidelines for retracement waves 2 & 4

Waves 2 and 4 are often shallow when wave 1 is extended




100.00%
23.60%

# Impulse (30} &tz

= = 61.80%

Fib guidelines for retracement waves 2 & 4

Always remember that the 'Alternation” guideline is
more reliable for retracement gauging than fibs alone

Fib relations of trend waves 1,3,5
When Wave 3 is extended, Wave 1 and 5 tend towards size
equality (100%) or a 61.8% relation.
# Impulse (5o} =t

Fib guidelines for retracement waves 2 & 4

Always remember that the 'Alternation” guideline is
more reliable for retracement gauging than fibs alone

Fib relations of trend waves 1,3,5
When Wave 1 and 3 are equal in size, wave 5 is more likely extended. Wave 5

then often is 161.8% in size relative to the size of wave 1 through to 3.
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Motive Wave < C}O|Of2Y Diagonal >

# =83 Diagonal (Contracting Diagonal)

# &4F Diagonal (Expanding Diagonal)
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%1 1-2, 1-2 32 (Diagonal OfYl)

In this lower zone, it is
not appropriate to count this This is the more likely 2 ]

as a 2nd wave 1-2. Itis still what is developing, a
corrective in structure rather WB triangle, and the
than advancing the wave 3. proper way to label it.
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Corrective Wave <ZIGZAG ) (5-3-5)

# 2AME (2227)
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Corrective Wave <Flat) (3-3-5)

'Expanding Flat (most common) /

'Running Flat (most rare)
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Corrective Wave <Triangle) (3-3-3-3-3)
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Corrective Wave <&¢t XA Complex Combinations)
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# Double Three (Zigzag - X - Triangle )

# Double Three (Zigzag - X - Flat)

# Double Three (Flat- X - Triangle)
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# Double Three (Flat- X -Zigzag)

# Double Three (Flat- X - Flat)

# Triple Three > E87 S%

Triple Three Pattern
(x) (x)
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